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Pattern Completion Figure Questions for SSC 
10+2, MTS, CHSL and CGL Tier-1 

Pattern Completion Quiz 3 

Directions: Find the Answer Figure will complete the pattern in the figure. 

 

(1).     A.  B.  C.  D.  

 

(2).     A.  B.  C.  D.  

 

(3).     A.  B.  C.  D.  

 

(4).     A.  B.  C.  D.  

 

(5).     A.  B.  C.  D.  

 

(6).     A.  B.  C.  D.  

 

(7).     A.  B.  C.  D.  

 

(8).     A.  B.  C.  D.  



 

 

 

(9).     A.  B.  C.  D.  

 

(10).    A.  B.  C.  D.  
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Correct answers: 

1 2 3 4 5 6 7 8 9 10 

C B A D D C C D C D 

 

Explanations: 

1. 

On close observation, we find that the option C will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

 Hence, option C is correct. 

2. 

On close observation, we find that the option B will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

Hence, option B is correct. 

3. 

On close observation, we find that the option A will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

 

Hence, option A is correct. 

 



 

 

4. 

On close observation, we find that the option D will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

Hence, option D is correct. 

5. 

On close observation, we find that the option C will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

Hence, option C is correct. 

6. 

On close observation, we find that the option C will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

Hence, option C is correct. 

7. 

On close observation, we find that the option C will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

Hence, option C is correct. 



 

 

8. 

On close observation, we find that the option D will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

Hence, option D is correct. 

9. 

On close observation, we find that the option C will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

Hence, option C is correct. 

10. 

On close observation, we find that the option D will complete the pattern when placed 

in the blank space of question figure as shown below: 

 

Hence, option D is correct. 
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